11 Chemistry 
Chapter 3 Conversion Factors
Name____________________________


1. A pharmaceutical company wants to sell their cough syrup in 50.0g lots. One milliliter of the syrup has a mass of 0.944g. What volume of bottle (in mL) must be used to hold this syrup?

50.0 g x 1 mL       = 53.0mL

              0.944g

2. The chemistry teacher found a spool of copper wire that contained 75.0g of copper wire. The experiment that she wanted her students to do required each student to use 1.75g of copper wire. How many students could do this experiment?

75.0g x 1 student  = 42.857 = 42 student 

               1.75g

3. A student found a silver coin and found the mass of this coin to be 15.85g. The density of silver is 10.5g/cm3. If we assume the coin is pure silver, what is the volume of the coin?

15.85g  x  1 cm3 = 1.50952cm3 = 1.510 cm3
                 10.5g
4. A prospector found a small piece of gold with a volume of 0.900cm3. The density of gold is 19.3g/cm3. If gold sells for $55.00 for one gram of gold, what is the dollar value of the prospector’s find?

0.900cm3 x 19.3 g  x  $55.00 = $955.35
                     1 cm3           1g
OR
0.900cm3 x 19.3 g = 17.37g  x  $55.00 = $955.35

                     1 cm3                          1g

5. The student government is going to have a chili dinner as a fund-raiser. There have been 600 tickets sold for this event. The recipe calls for two teaspoons of chili powder for 10 servings of chili. One small can of chili powder holds 15 teaspoons of chili powder. How many cans of powder must the students buy?

600 ticket  x 1 serving x 2 teasp       x     1 can      =   8 can
                      1 ticket      10 serving        15 teasp
6. You need to purchase 7.50kg of gasoline for your motorboat. Gasoline has a density of 0.680g/cm3. What volume of container do you need to hold this sample of gasoline?

7.50kg x 1000g x  1 cm3    x   1 L        =   11.029L  =  11.0L

                  1kg       .680g       1000cm3 

7. In the past, pharmacists measured the active ingredients in many medications in a unit called grains (gr). A grain is equal to 64.8 milligrams. One headache tablet contains 5.0 gr of acetylsalicylic acid (ASA). 
(a) How many milligrams of ASA are in one tablet?
(b) How many grams of ASA are in one tablet?
(a) 5.0 gr x 64.8 mg = 324 mg
                    1 gr

(b)  324 mg  x     1 g       =   0.324g

                        1000mg
